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Number of candidates after all cuts
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Number of candidates after all cuts

Generic cc MC

Cut list number of candidates after selection
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Number of candidates after all cuts

Generic uds MC

Cut list number of candidates after selection
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Cut no.

cl
c2
c3

c4

cb
c6

c7
c8
c9
cl0

Cut

Rec. events
sinp<1
Mk>1.91 GeV
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|m,,-3.69[>0.05 GeV

1.5<mgree<2.06 GeV
-2<C0S01<1.1

Prag > 1.3 GeV
R2<0.3

nLeptons=2
Rank 1
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98880
28734
13979
13443

13294

9349
5728
3933

3111
2573
2300
2.3x103

Ng+g-
6537405
75557
8574
7558

7315

3762
974
463

357
238
134
3.4x107

Detalled cut flow
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TMVA

* Using the following input variables. Signal side cuts
pltag, MRoE, COS(thag,pvis.tag); nLeptOHS sing <1
Mkn>1.91 GeV
. [Myr-3.1/>0.05&
* Applied some loose |M,-3.69]>0.05GeV

selections on tag side Im,,,-3.69|>0.05 GeV

° pltag > 03 GeV && plta_g < 25 GeV

* 1.3<Mgroe<2.1GeV
Nsig - 9414, Nbg = 8043



Input variables

input variable: m__
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TMVA response

TMVA response for classifier: BDT TMVA response for classifier: Fisher
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TMVA FOM

Cut efficiencies and optimal cut value

Cut efficiencies and optimal cut value

—— Signal efficiency ———- Signal purity —— Signal efficiency ——— Signal purity
------- Signal efficiency*purity ------ Signal efficiency”purity
Background efficiency | ——— 5/S+B Background efficiency | —— 5/iS+B
= - ; = : -
3 : i H E 3 __?u E
a s & el
3 08 o T 5 2 osl ? -"ﬂ;ﬁr':ﬁu 5
g _:50 iﬁ g - IFF ._ ........... E E
2 ] 2 - i .
9o —50 o 06 - 50
= 0.6 bt Ben et s Mg A b - = B [ e e, e
g 40 R - 40
. . K
0.4 “‘530 ﬂ_4 e e e R R R ,.E 3(‘]
| - 20 - W\ O\ i
0.2 [—For9414 signal and-8043 backgroundy -~ : T e 0.2 —For 9414 signal and 8043 background -~ e Mg L%, YEOE T TR
i eventsthe maximum S\S+Bis | : : '\ 10 [ ievents the maximum S/{S+Bis : NN 10
?5.722:? when cutting at -0.2283 | ] - i?4-2213iwhen culﬂlng at-ﬁ-'-2295 | | |
| L1 L L1 [ L L |1 [ L1 | u u | 1 L1 1 L L1 1 11 | L1 1 1 L1 1 1

0 - :
08 06 -04 02 0 02 04 06 -1 08 06 04 0.2 0 02 04
Cut value applied on BDT,Qutplburcrsee Cut value applied on FishegQUtRM et rox



TMVA Ponzi FOM

Cut efficiencies and optimal cut valug Cut efficiencies and optimal cut value
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Cut
no.

cl
c2

c3
c4

ch5

cb6
c7

c8

Cut

Rec. events
Best candidate selection
sinp <1

IMu-3.1/>0.05&
IM-3.69]>0.05GeV

Im,-3.1[>0.05&
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Final efficiency
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Correlation Matrix

Linear correlation coefficlents in 9%

Correlation Matrix (signal)

Linear correlation coefficlents in %
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TMVA training

TMVA overtraining check for classifier: BDT
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TMVA training

TMVA overtraining check for classifier: BDT
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TMVA overtraining check for classifier: Fisher
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Background rejection
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Background rejection versus Signal efficiency
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